Exponent and Logarithm Practice

Evaluate.
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Simplify each of the following. Write all answers without negative exponents.
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Rewrite each of the following equations in logarithmic form.
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18. 1072 =0.01 S
19. 62 =66

17. 4% =64
Rewrite each of the following equations in exponential form.

21. log,27=3 22. l0g;125=3 23. log, m=n

Rewrite each of the following equations in expanded logarithmic form.
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Rewrite each of the following equations as a single logarithm, if possible.
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Solve each of the following for x.

36.. 4* =64 37 3% = 2_17 38. 100% =0.001

42. 92X+1 — 27X+2
46. %4 =a%.2%6

41 52)(—2 — 252X+5
45. X2 +2=27

40. 32)(—1 — 9)(—3
44, 27% =33 .92x+1
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X+4 X+6 x2-3 _ ox X X242 _ 53x
48. (3a) (27a ) 49. 3 =9 50 92X — 973 51. 2 =2
52. log, 27 =3x+6 53, Iog41=5 54. log, 64_ %1 55. 4log, x=8
4 8 327
56. log,125=3 57. log, x =4 58. log, x+log,(x—2) =1 59, Iog3(x2—22)=3
60. 2* =5 61. 3* =101 62. 77" =316 63. 7 +2"" = (43.2)**
64. 4% =52 65. (3°)(5%) = 271"
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12. -2 C®Ixy? 14 Yx 15 & . % 17. log,64=x 18. log0.01=-2
Xy
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19. IogGG\/—:E 20. loggo=-7 21 =27 22 5§=125 23 b'=m 24 27=¢
25. log, x+log,z 26. %Iog5 y 27.log,81+2log, x—glogb y
5 5 1 1 p Xy
28. Elogs4+zlog3x—zlog35—zloggz 29. log, x'y  30. Iog4£ 3L Iog27
4 2/3,,3/4 Y4
32. log, x** 33, log, Xy 4 log| 2 y 35. log, __™ | 36 x=3 37. x=-3
Ioga 2 7° %XS/z y15/7
38. x=-15 39. x=2 40. nosolution 41. x=-6 42. x=4 43. x=-3 44, x=-5
45, x=i% 46. x=-2 47. x=-1 48. x=-7 49. x=3or x=-1 50. x:g
51. x=2o0r1 52. x=-1 53. x=-8 54, x=2 55. x=4 56. x=5 57. x=81 58.
x=3 59 x=+7 60. x=1292 23919 x=100101 _, 168035
log 2 log3
62. x==[100316 1) 19789 63 x-__2/09432-l002 55,
2\ log7 3log7-7log2-log43.2
64, x——21095-1004 5540 65, x- log271 ~—4.361
2log4-3log5 log3+2log5-1log 271
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